Sistemi di disequazioni logaritmiche

Logaritmi
1 {log2x>3 8<x <64
log,sx <3
loggx < —= 1
2 2 0<x<—
logix>1 10
10
1l 2
3 [1091% < 0 < x < 0,0016
log0,25x20
. | Inx <3 L<xy<el
Inx—1)< 4 -
‘ 1log(x—1)+log(2x—3)>0 vs 2
logyx+3=0
lo >4
6 D, g\/ix_ x =4
3log,(x — 2) <log,(x —2) +log, 4
log1(4x—3)> -1
7 —<x<§
log4x<—
Inx>-1
1 -1 242
° {Elnx<\/_ ¢ osxse
l —
. {og(Z x) > log(x + 2) _2<x<_l
logz;(2—5x) > 1 5
log1(6x—2)+log1(x+1)—log1(5x+1)>log14
10 { %<x<2

2—x
log,4 > log, (x n 3)

11

{ logl(x +5)>-3
log, (x? —x) —log,6 <0

—2<x<0Ul<x<3

. { logs.(2x—1) <1 o
logs(x — 2) > log;(2x — x?)
; x+1 ;
13 | {10905 =7 < 0905 ¥ VZ<x<1+v2
0,5—1logysx=1
” {loglz(x—3)>1 LS 15
log(logx) >0
] o1 ( 4+ x )
o BEANE AR T 0<x< 32_5
logs(12 — x) + l0g5(7 —x) > 2logs(x + 3)
log,(2 —x) —log,s 2 <logs 3 +logs(x — 1) 8
16 { 2 -<x<2
n4d—x)+Inx <In(x+6—x°) 7
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Logaritmi

Sistemi di disequazioni logaritmiche

logi(x* —3x —4) < logi(x* —x — 2)
3 3

17 x x + 1 x < -1
oy ()< oy (2
m2x<2nx+1 5
“ 2V2
18 { \/§>%lnx g Sx<e
2 _
» log(x*—3x+10)< 1 l<x<3
log5(x + 6x + 8) > logs(x? + 4x — 5)
log1(2 —-x) > log1(1 — 2x)
)
20 log1(3x —-5< log1(2x -1)
log3(4 3x) >0
21 0<x<1
logz >1
log2(4x +1) —log,(5 —x) > log,(2x — 1)
22 log3(2 — x*) < log3(1 — 2x) 4
5 5
2 { logg(x+\/§)>—log3(x—\/§) ‘>3
log,(x +1) <log, 2 +log,(x — 1)
2 _ —
24 { (log, x)* —2log, x —3 <0 3<y<B
log,(x% + 6x + 8) > log,(x? — 3x)
log1(8x -7 > log1(x +4)+ log1(x —4)
25 9<x<10
log4(\/x -1- 2) <0
log,(3—x) +log1x + 4
g >1
26 4+log%x 1<x<?2
1
klogz x < log, x* + log1(2 — x)?2
2
(logx)* —4logx +3 <0
27 {2log1x>log1 192 +log1 3—1log1 4 10<x=<12
10 10

28

{ (log x)* > (log x)°
2logs x — logg(x +2)<0

0<x<1lul<x<?2

log1x<— 1
29 §<x<2
log1x > loglx
log1x+log1x—2>0 1 1
30 ZSX<§

22 > logzx
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log?(x +5) — 6 > log,(x + 5)
logix —4+2logix
2

. + logi1x <0 x>3
2—logix g%
2
_ 2
32 { 1=(nx)" <0 e<x<et
(Inx)?=3Inx—4<0
2 log,(3x —2)2 < > +log;(3x — 2) §< . <Z
2+1log ;3 —x)>log;(2x+1)
logz(3x —7)? —1og2(3x = 7) < log2(11 — 2x)* — log2(11 — 2x)| 14
34 3 3 3 _<x<5
log?(x —1) —log,(x —1)—2<0 5
(x — 2)(x+2)
= 1
35 log, x + 2 S <x<1
log,(22* —2) <1
36 x| + 1 - —8<x<-3

log,[log,(1 —x)] —log,2 =0

37

[1+log3(x —1) — 2logs(x —1)] - log,(x — 1) > 0
logiVx > —log, x
2

3—-1 1
{ 0gzlx| + |x| + 1

x>2Ux+4

38 (0]
log1x
2
_ N x=e?Uy
39 {(ln * 4)(2 ZX) =" el<x<1u
In*x — 5ln’x > —4 x = e?
[log(x —1)] - [log(x + 1)] <0
40 { log[(x —1)(x+1)] - V2<x<2
log, x(2 —-x)<0
“ { In(x+3)>0 x> E
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Logaritmi

logi(x +1) > -2
3

Sistemi di disequazioni logaritmiche

42 X -1<x<0
<0
x+2
{2 logi(x —1) —logi(x+5) <1
43 2 2 x>3
loge(2x — 1) < log;(x)
44 (0<x<2m 1)

45

logzx -1)<3
x*+6x2+9>0
x| =2 <0

log1(cos x) >1
log smx+ < 0

2<x<-1Ul<x<?2

46

47

{log(x +5) > log(x + 3)
In(x3+2x?) >0

In(x—1)—QR2x+3)<In(x+1) —In(2x — 3)
{ logx(\/x + 1) >1

-1-+5

<x<0
-1++5

Ul<x<

Uux>1

—<x<2

48

loglx + 3| > log|3x — 5|
{logi(4x‘1) < log 1 (16)
10 10

3<x<4

49

50

|

[ In(tanx) >0

. V2
lo sinx) <lo —
gz (sinx) < log: ( > )

log,(x3 + 3x% + 4x) >3
logiVx +5 > logi(x — 1)
5 5

0<x<m

x> 4

[
—<x<z=

51
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In(x+2)—In(x—1) > In[2(x — 1)]
log(lx—11+1)>0
log1(4x+3) > -1

11
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